
 

FORM FIT HOOD PROTECTOR  
   Honda Accord  2003 -                                                                                                       HD 9D 03-4 

HARDWARE KIT                 TOOLS REQUIRED  
2 – Large Bumpons     1 – Phillips Screwdriver # 2 
2 – Deflector Supporting Clips Center Locations      1 – Tape Measure 
       * (Identified with Silver Stripe)      
2 – Deflector Supporting Clips End Locations  
2 – Deflector Supporting Clips Side Locations  
4 – Expansion Plugs 
6 – #8 x ½” Truss Head Screws (Black) 
4 – #6 x ½” Screws 
   
Installation Procedure 
 

1. Be sure that the hood is clean and dry inside and out.  
2. Using a tape measure install the (2) two bumpons as shown below.  
NOTE: The bumpons must be installed on the hood not the deflector. If the bumpons are installed on the deflector, they will wear through the hood paint. 

 
 
 

250mm 

85mm 

 
 
 
 
 
 
 
 
 

3. Open the hood and remove the four (4) plugs securing the hood leading edge chip guard at the following locations as shown. 
 Center Location 

 

 
 
 

 End Location

 
 
 

 
 

4. Peel the chip guard back by hand all along the leading edge of the hood. 
5. Place the deflector supporting clip (Identified with Silver Stripe) over the hood edge at the Center location. Align the hole in the supporting clip with the hole in 

the hood exposed in step 3. 
NOTE: DO NOT pry open deflector supporting clips to aid installation. Permanent deformation may occur and the clips will become loose. 
6. Insert an expansion plug into the hole, first going through the chip guard into the hole in the supporting clip and into the hole in the hood. Tighten a #6 x ½” 

screw into each of the expansion plugs. 
7. Repeat for the deflector supporting clips at the End locations (No identifying strip). 
8. Use a flat blade screwdriver wrapped in insulation tape to set the hood leading edge chip guard back into place. The chip guard must seat over the defector 

supporting clips as shown. 
 

           Hood 
 
 
 

Chip Guard 
Expansion Plug 
 

#6 x ½” Screw 

          Deflector 
 
Deflector 
Supporting Clip 

Bumpon  
 
 
 
 
 
 
 
 
 
 
 
 
 

9. Place the air deflector on top of the four (4) brackets installed in step 5 and 7, aligning the holes in the deflector with the holes in the expansion fasteners 
mounted in the top of the supporting clips. Tighten a #8 x ½” Black screw through the deflector and into the expansion plug. 

10. Place the deflector supporting clips Side location over the edge of the hood, and align the clip with the hole in the deflector. Tighten a #8 x ½” Black screw 
through the deflector and into the expansion plug. Be sure the supporting clip is fully seated against the hood edge. 
 

CARE INSTRUCTIONS 
Clean the protector with a mild soap and water solution or plastic cleaner only. Do not use chemicals or solvents. Periodically check to make sure the 
protector is secure. Avoid using automatic car washes. Do not pull on protector when opening or closing the hood. 

   

Thank you for purchasing a form fit hood protector. 
Retain this sheet for care instructions and kit information. 

Made in Canada  Rev4.070924  
 

 



 

FORM FIT PROTECTEUR DE CAPOT  
  Honda Accord  2003 -                                                                                                                  HD 9D 03-4 

Sachet des fixations   Outils requis         
2 – Grandes butées  1 – Tournevis à embout étoilé (n°2) 
2 – Endroit central de support d'agrafe de déflecteur      1 – Ruban à mesure  

         * (Identifié avec la raie argentée) 
2 – Endroit de support de fin d'agrafe de déflecteur 
2 – Endroit latéral de support d'agrafe de déflecteur  
4 – Chevilles expansibles 
6 – Vis noires à têtes fraisées n° 8 x ½ po  
4 – Vis à têtes fraisées n° 6 x ½ po 

 
INSTALLATION 
 

1. S’assurer que le capot est propre et sec à l’intérieur comme à l’extérieur. 
2. À l'aide d'un galon à mesurer, installer les deux (2) butées comme illustré ci-dessous. 

REMARQUE: Les butées doivent être installées sur le capot et non sur le déflecteur. Si les butées sont installées sur le déflecteur, elles pourraient user la 
peinture du capot. 

 
250mm 

85mm 

 
 
 
 
 
 

3. Ouvrir le capot et enlever les 4 chevilles qui fixent les deux bouts du protecteur de rebord de capot. 
 Endroit central 

Endroit de fin

 
 
 

 
4. Rabattre le protecteur à la main le long du rebord du capot. 
5. Placer l'agrafe de support de déflecteur (identifiée avec la raie argentée) au-dessus du bord de capot à l'endroit central. Aligner le trou dans l'agrafe de 

support avec le trou dans le capot exposé dans l'étape 3. 

REMARQUE: Ne pas ouvrir les agrafes du déflecteur avec un levier pour faciliter l'installation. Les agrafes pourraient se déformer et ne plus bien tenir. 

6. Installer les chevilles expansibles dans les trous exposés à l'étape 3, d'abord à travers le protecteur puis à travers les supports d'agrafes des extrémités. Serrer 
une vis n°6 x 1/2po dans chacune de la cheville installées. 

7. La répétition pour les agrafes de support de déflecteur a marqué le « endroit de fin » (Aucune bande de identification). 

8. À l'aide d'un tournevis plat emballé de ruban isolant, remettre le protecteur de rebord de capot en place. Le protecteur de rebord doit recouvrir les agrafes de 
fixation du déflecteur comme illustré. 

           Capot 
 
 
 

Protecteur de rebord 
Cheville expansible 
 

Vis n° 6 x ½ po. 

        Déflecteur 
 
Agrafe de  fixation 
du déflecteur 

Butée  
 
 
 
 
 
 
 
 

 
9. Placer le déflecteur d'air sur les quatre (4) parenthèses installées dans l'étape 5 et 7, en alignant les trous dans les attaches d'expansion montées dans le 

dessus des agrafes de support. Vis noire serrer de n°8 x ½ po par le déflecteur et dans la prise d'expansion.  
10. Placer l'endroit latéral de support d'agrafes de déflecteur au-dessus du bord du capot, et aligner l'agrafe avec le trou dans le déflecteur. Vis noire serrer de  

#8 x ½ » par le déflecteur et dans la prise d'expansion. Être sûr que l'agrafe de support est entièrement posée contre le bord de capot. 
 

 

Instructions pour l’entretien 
Nettoyer le protecteur avec une solution faite d’eau et de savon doux ou avec un nettoyant de plastique seulement. Ne pas utiliser de produits 
chimiques ni de dissolvants. S’assurer périodiquement est toujours en place et que le protecteur est toujours bien retenu. Éviter de laver le véhicule 
dans un lave-auto automatique. Ne pas tirer sur le protecteur pour ouvrir ou fermer le capot. 

Merci de vous êtes procuré un protecteur  form fit. 
Conserver cette feuille pour les instructions d’entretien et les renseignements concernant le nécessaire d’installation. 

Fabriqué au Canada Rev4.070924 
 

 


	FORM FIT HOOD PROTECTOR 
	HARDWARE KIT                 TOOLS REQUIRED 
	Installation Procedure
	CARE INSTRUCTIONS
	  
	FORM FIT PROTECTEUR DE CAPOT 

	INSTALLATION

	Instructions pour l’entretien

